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If there were people on Venus
they might have decided to
use a 4-hour clock.

Their clock would look like
this. Instead of 4 they put 0
at the top.

+3

2 o'clock 243=1

1 o'clock

Do the following questions on a 4-hour clock:

. 6) 0—3 11).3424+143
2) 241 7) 24342 12} 2—3—1

3) 1+3 8} 1—312 13)2+2

4] 23 9) 0—2 14) 0—3+2
5) 3+2+1 10) 24140 15} Bk3--2

Turn over



The results of adding or
subtracting any pair of
numbers on the 4 hour clock
can be shown in tables.

16) Copy and complete these tables:

2nd Number

+ 0. F 31213

B o
£
2l 2 14 2+3=1
3
2nd Number
= " 0 1 2 178
. 0 24 0—2=2
E
=h
2—-1=1 2 :
3




Multiplication Flags
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Multiplying by 2 then multiplying by 5 is the same as multiplying by . . 7
Fill in these flag diagrams to help you complete this statement.
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Multiplying by 2 then multiplying by 5 is the same as multiplying by
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Multiplying by 3 then multiplying by 4 is the same as multiplying by . . 7
Fill in these flag diagrams to help you complete this statement.
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Multiplying by 3 then multiplying by 4 is the same as multiplying by




L3

Multiplying by 2 then multiplying by 4 is the same as multiplying by . . ?
Fill in these flag diagrams to help you complete this statement.
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Multiplying by 2 then multiplying by 4 is the same as multiplying by

12

Try some examples to complete these statements.

Multiplying by 3 then multiplying by 6 is the same as multiplying by

Multiplying by 5 then multiplying by 3 is the same as muitiplying by

L3

Choose some numbers to complete these statements.

Multiplying by then multiplying by is the same as multiplying by

Multiplying by then multiplying by is the same as multiplying by
Pying P P

Multiplying by then multiplying by is the same as multiplying by
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Short Orders

Here is the menu board of a café.

MENU EAT-IN TAKE-AWAY

SANDWICH - 95p 80p
ROLL 15p 10p

BISCUIT . 25 25p

COFFEE 50p 45p
TEA 40p 35p
JUICE T0p &0p

The cafe gets very busy so instead of writing out an order in
full, the staff use a code using letters to stand for prices.

Instead of writing One coffee, one sandwich and
one juice.

they write LC s S o+ J {

The cost of this order is:

To Eat-in 50p + 95p + 70p £2.T5 -

To Take-Away 45p + 80p + 60p £1.85

1. Write down the price codes and work out the Eat-In
and the Take-Away cost for each of these orders.

a) One tea, one sandwich.
b) One coffee, one biscuit and one roll.

c) One juice, one tea, one sandwich and two rolls.
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Smile Worksheet 2274

® Match the words with the algebra.

abc

® One expression in words and one
expression in algebra do not match.
Write a matching expression for each.

"Multiply b by 2 then subtract from a." f i a(b —c)
' Sursctoromamenmutgybybs | A-b
| Adboapedvdemocs | &
wgyatybmenavaeryer | 5oy,
 Ovdactybenmuaybyar || abe
© Mutpyabyctendvideinob” | ba—c)
 Adboamendvidebyer L oae
wpysbbyer Lo
© Wipyabys pensubrectes o AEE
| swiciotombmenmutpybyar | fxa
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Anywhere on the number line.

1) If you Start at 2, canyov continve to rename the number line ?
2] & =5 <F 5 =3 =f o ! 2 4 5 6 7

Z
- T Vo -3 T T =t

ZA L ICICIC = =] 22 Z1 —en 22 Z] 1L

[t is possible to rename the number line from any starting point.
2) Try this one :

-8 7 6|-5|4 -3 -2-1 0t z 3 4 5 6 7 8
£2- 12 i —F = il i VI—I——I - { e}
1= 37 N | s s o o

3) Choase a starting point of yoour own:

254 255 256 257 258 259 260 26/ 262
s e =T : i —{ o = 4} T3 =y
N J L | L ] 1 [ 1 ) | | I s
4) Let »n be any position on the numberline :

n
—— T T = — T —13 e = g
[7-%] l7-2 ] [_| [72r] [P22] [ ] (] [2#5

5) If, In question 4, n=3 which nomber /s (nt1) ?
which nymber js (n-3) ?
which nvmber s (n+3) ?

6) If, in question4,n =7  which number Is:
(n-1)— 3(n+) (n=1)(n-4)
rn(n+3) nn-4)(n+3) _
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Smile Worksheet 2237
Words won't fail me!

ﬂ Join the expressions in words to the equivalent algebraic expressions.

The product of a and ¢ is divided by b. g%b
-C_
Divide a by ¢ then subtract b. a-b
Subtract b from a and then divide into ¢. a+c
- — a-b
Multiply a by ¢ then divide into b. T
— b
Subtract b from a then divide by c. ac
— ) ac
Divide the sum of a and c into b. b

E Write algebraic expressions equivalent to these expressions in words.

The sum of a and b is divided by the sum of ¢ and d. —

a is added to b then divided into the productof c and d. | =3

Add a to b and divide by the product of ¢ and d. e

The sum of a divided by ¢ and b divided by d. e

E Write expressions in words equivalent to these algebraic expressions.

a;b >

c+d

a+b »
cd

ab ’,
C

a+b —-




How did you write the orderin M
y -_gz EAT"N THKE-AWAY
ey

question (1¢) in code? SANDWICH 95, g
P
. . S Bp 0
You might have written BISCUT 45
P Z5p
J+T+S+R+R COFFEE

0p 45p

TEA
Juice

A shorter way is 35

J+T+S + 2R é0p

An order of 25 teas could be written as

T+T+T+T+T+T+T+T+T+T+T+T+T
+ T+ T+T+T+T+T+T+T+T+T+T+T

or 25T

The second method saves time.

One roll, six sandwiches, two teas,

four coffees and one juice.

Eat-In 75 + (6x95) + (2x40) + (4x50) + 70
Cost - 75 + 570 + 80 + 200 + 70
- 995p
= £9.95

Take-Away 70 + (6x80) + (2x35) + (4x45) + 60
Cost - 70 + 480 + 70 + 180 + 60
- 860p
- £8.60

2. Calculate the Eat-In and the Take-Away cost of the
following three orders:

a) Five coffees, three teas and four biscuits.
b) Three juices, two teas, four rolls and one sandwich.

c) 7S+R+5T+J

© RBKC SMILE 1995.
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The Algebra Game

Number on

the dice. This is the start of a game using the board for Smile 2321.
AlgebraRule d  Working _ Move col
EE» d+2 4| d+2 =4+2=6 6| 6
2d 5 2d =2x5=10 10 | 16
12 - 2d B 12-2d =12-~-(2x2)=21-4=8 8 | 24
5-d 6 5-d =5-6=-1 -1 | 23
- 3 o =(2x3) 3=6 3=2 2|25

Now start a game of your own. Record your moves below.

AlgebraRule d  Working Move Lol

SR g

© RBKC SMILE 2001



